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Topic:- Child Development & Pedagogy (CDP)

1) The distribution of intelligence is not among all human beings./ Tt qﬂ'&ﬁ & ﬁﬂ, g'@ DI
faawor L]

1. Moderate / HEIH

2. Equal / GHTeT

3. Appropriate / W
4. Same / Udh @w
Correct Answer :-

o Equal / HHTeT

2) The primary focus of a formative Assessment for learning should be: / 3R & ﬁI'Q U RS

i 1 UTyfies < g =

1. checking the classroom presence of the child / aér aﬁ Caall f[ B'Q'@Iﬁf afr \_rl'TE[ DAl
2. checking memorizing skills / THXUT QT@T Eﬁw a'?r CIEEZSI

3. help in improving writing skills / RE Hal Bl ﬁiﬂ?ﬁ T A BT

4. understanding the gaps in learning / ST H 3faRTd B HHAAT

Correct Answer :-

« understanding the gaps in learning / SfRTH H 3IaRTd B NEER

3) Mohan is a 13-year-old 9" class student with a mental age of 16. What

type of child is he based on his IQ scores? / Hg 13 Tifa Y He&m &1 B B, RrId 7RIS 3Mg16
21 98 A gf ¥R & YR R {5y YR &1 9= 82

1. Imbecile /ﬂ‘:{ﬂ' Iqr A

2. Genius / IfAHTATeT

3. Above average / 3iGd A FUX
4, Superior / ass

Correct Answer :-

« Superior / aR®E



4) What is the Freudian stage of psychosexual development in which children are toilet trained known as? /

ﬁﬁ?ﬁmvﬁm%mnaﬁwmm%ﬁmﬁaﬁﬁsﬁa%ﬁmmm
ST 82

1. Latency / 3cTaeFdTaEdT (ofcH)

2. Phallic / Tol9T TeITATaEdT (hice®)

3. Oral / HETGEAT (31R)

4. Anal / T[ETGEAT (TsTe)

Correct Answer :-

* Anal / T[CTIEAT (VeToT)

5) What is Progressive Education? / Tttt Rrem < %?

1. It has standardized testing / Eﬂﬁ WI:W’Q@F[ qﬁ&‘lUT Eﬁ?ﬂ %I

2. Itis Learning by doing / S8 X §U JHTaem (aifefar a1$ 3591) @ &
3. It is data-driven learning / 3G SeI-3memia 6T giar &

4. 1t has standards-based curriculum / SHH HIeTehl U MR ITsTHa 8T &1

Correct Answer :-

« Ttis Learning by doing / 3HH &d gv ifeers (afster a5 5\37[) gier &1
6) is called maturation. / CARIELE I CHEIGH %I
1. Family intervention / gRaie Wﬂq

2. A change due to cultural influences / '\'TW}_%E JHTal & HROT Teh qﬁﬂ?“ﬁ

3. Natural biological development / Q'@fﬁ'aﬁ SAfae e

4. Change due to environmental pressures / JATEONT Earat & SIRUT gRadeT

Correct Answer :-

» Natural biological development / W SAfae e

7) study is applied to study in which some of the individuals have been measured on at least two
successive occasions / g Bl FIT'];W% & ﬁl'l'{ 3y foar Sirar %, fad | PO
HfFadl B $H A $H & TAR SGER] IR T 14T g1

1. Extended Longitudinal Method /ﬁw eﬂ%m‘ Q@'
2. Longitudinal growth/ 3‘1@%\"3& ac?\'\%

3. Cross Longitudinal Method/ $h1E 31T faehrer
4. Mixed longitudinal/ TRTSIT 3re7de

Correct Answer :-

+ Mixed longitudinal/ TATAT 3rgced



8) Which of the following is not a use of an intelligence test? / ﬁmﬁﬁa##ﬁmﬁ@qﬁmm
IR AL YT 8?

1. Selection of students for scholarships / Wﬁéﬁﬁ'ﬂ'ﬁlﬂi ol Il
2. Evaluation of teacher’s performance / fﬂ%%ﬁ?ﬁww

3. Grading of a student / Teh &TF &I A9

4. Predicting a student’s success / Uch &4 FT Tholdr T Ht\drloj:Hlﬂ ]

Correct Answer :-
« Grading of a student / Teh ©TF T A3

9) The main objective of ADIP scheme is to provide to persons with locomotor disability. / TSI3TSUY
AT FT AT 35827, AFANR feeiorar a safFaat Ht YT FTT ¢

1. Disability certificate / f&eamaTdr JHTOTIT
2. Employment / IISTITR
3. Education / forar

4. Aids and Appliances / HgrIH 3R IO

Correct Answer :-

« Aids and Appliances / @grIH AR IO

10) The three major themes in Vygotsky’s Social Development Theory are: / mgvﬂ?aa?r & FHAISS
e Ry & &7 ww Re &

1. Cognitive Apprenticeship, Social Interaction and Reciprocal Determinism. / TalTelTcHeh QfQ\T&j?IT , ATATToTh
FEATRIaT 3R gREaRe fFuRorarg

2. Cognitive Apprenticeship, Legitimate Peripheral Participation, The Zone of Proximal Development. /

HATATcHS iRIeIar, 9 aRef #efierd, givey [emg & ax

3. Reciprocal Determinism, Reward and Punishment, Classical Conditioning. / IREIREH ﬁ'iﬂTUTEITEI, EIRIIRG]
3R &3, AT 3reToholel (Fellf@eher sHsrerfeian)

4. Social Interaction, The Zone of Proximal Development, The More Knowledgeable Other. / STHTToTh
HEHATRIAT, GHIIEY Tahrd &1 817, 37 3T AT Teef

Correct Answer :-

« Social Interaction, The Zone of Proximal Development, The More Knowledgeable Other. / ATHTToTH
FeTiarar, GEITY A T &7, 3 31 AT Usel

11) Ability grouping is a kind of segregation of the to provide greater opportunities of interaction
and stimulation. / AR A 3R 30T F e HTW Yo T & AT &1 W,
FO TH TFR T JIFHIT o

1. Disadvantaged / afdd



2. Normal / GTHTT
3. Backward / 9gddTt
4. Gifted / gfqdTaTT

Correct Answer :-

o Gifted / STa#TaTeT

12) Language development in children follows the Principle of / oot & o 1 e g m}l’lﬂ' &
et g e

1. Integration / TehIehTOT

2. Uniform pattern / Teh&Y Yoot

3. Continuity / feReRar

4. Individual differences / SATFAINT [HoaAdT

Correct Answer :-

e Uniform pattern / Teh&Y Yoot

13) Direct method is also known as : / g7 fafer =i s ™ # oft ST SIar %:
1. Direct approach / JcJ&T TiShITT

2. Inductional approach / YRUTcH® T fScahIoT

3. Natural method / Yrehfcier fafer

4. Indirect approach / 39cT&l Tfcahiv

Correct Answer :-

» Natural method / ';rmﬁm Jafer

14) In collaborative learning, it is better that the students go through ./ ganit feers ﬁ', I8 dF %
fF o ¥ ATEIH § T¢I

1. Self-assessment / Edd: 3ol

2. Formative assessment / Y{dellcHh d-lichoio-l

3. Peer assessment / areft 3fTeholeT

4, Summative assessment / q\ldllcd-ldn J-Iichoio'l

Correct Answer :-
o Peer assessment / grefy 3feholeT

15) Rating scales are used to measure / F AS F T FA AUROT AT AT ) FT 39AET
fFar Jrar §1

1. Intelligence / g?{ﬁ



2. Attitudes / a@aﬁr
3. Achievement / 391 B3]
4. Skills / IreT

Correct Answer :-

o Attitudes / a@aﬁr

16) Which of the following disorders is caused by an extra twenty-first chromosome? / T & ¥ sl

o1 RFR v Afalea sFhad IO F FROT g1 B2

1. Phenylketonuria / a?—ﬁfﬂ'ﬂaw

2. Down syndrome / ST3¢1 @—Qﬂ

3. Turner’s syndrome / TR FI ﬁls’m

4. Sickle cell anemia / Gl hITAPT IRFAAT (Rher TeT TAITAAT)
Correct Answer :-

e Down syndrome / SI3e] @—;PFFT

17) Which of the following will occur if the stimuli of the first task is greater in similarity in the second task?/

fPrafaRa & ¥ #1 g IR e I A 3T, gE FH F FAWG F A30F
1. No transfer will occur/aﬁé ofY TATaOT Fl_E?f ?I?TTI

2. Extent of transfer will be minimum / TITTAROT &7 fAEAR egoIdH grem|

3. Extent of transfer will be less / TATATARUT T [dEAR FHF g

4. Extent of transfer will be greater / TATATARUT T faTdR 31T gam|

Correct Answer :-

« Extent of transfer will be greater / TATATAROT T faEaR 318 gram|

18) Which of the following statements best defines motivation? / AFafaf@d & ¥ FIFT-AT FUT YoM Y
=B RE IRAAT Faar 2

1. Internal state of an individual that arouses, directs, and maintains behaviour./ frar safea & 3ﬂ?|ﬁ7=h_ yfa ar
IR &l 3dfoid adl g, FERIa iy § 3tk e @ &1

2. State of one’s emotional strength to respond to difficult situation. / FideT aRTEATT FT @ ¢ & folv T
HIaeTcAS AfFd @1 fEufa|

3. One’s ability to demonstrate discipline. / 3-1?:]; M TS el T &THdT
4. One’s ability to do a task quickly and neatly. / fRET FRT & FTedr 3R 3oeT b T T HT &TAT

Correct Answer :-

o Internal state of an individual that arouses, directs, and maintains behaviour./ T eafga 1 3aies afa s
SIAgR &l 3dfold ddl g, [AGRId aXdl § 3R Fo0 3@ gl



19) Which of the following is not characteristic of a relational learning style? / foFafaf@d HA A &l @1
gaeuTcAS At A f RAdwar € 2

1. Sequential thinking / 3-17:!:95@3? ara

2. Perception of information as part of a whole / FE[USI' & BT & & H AT $r aRom

3. Intuitive learning / Hgol ATel e e

4. Improvisation / 3TTRTEEAT IT Alchiieleh Fe2lel

Correct Answer :-

+ Sequential thinking / 37eJsh{&e I

20) Which of the following teaches parents a range of techniques for controlling and managing their children's
symptoms, especially with children diagnosed with conduct disorder? / Frfef@T & ¥ sladr 9 , HIdI-
Rar & 3ver a=al & Jaro F IR S 3R Tt Fa F P & ad § Oed T [@ey
T @ ITROT {AFR (FeFe BHAE) § AT aa &2

1. Parent training programmes / ai‘c' aﬁm m

2. Functional Family therapy / FrITHPS TRaR W

3. Systematic family therapy / quTTeieTd hiFelr aXdr
4. Play therapy / Tor AT

Correct Answer :-

« Parent training programmes / ﬁi‘c’ aﬁ"T @I";I'll'\q

21) What among these are not personality traits?/ ET'F# ¥ 41 gfFdca F&TOT AET 82
1. Thinking-feeling/ TaaR- HTG=T

2. Judging-perceiving / 37TehaT. -gHSAT

3. Sensation-intuition./ HAGaT- 3c: T

4. height-color / Fe-3aT

Correct Answer :-

« height-color / He-TaT

22) What is a rule that always leads to a solution if used correctly called? / 38 I & F41 FEr AT % S
FAAT UF WA Tl § TG 3HHT TEl &1 § 39T FoRam sIm?

1. Heuristic / Tad: XY (SGRREH)

2. Algorithm / TeaRZHA
3. Information processing / ¥deIT JHEROT

4, Stereotype / m (FEIRAeEy)

Correct Answer :-



o Algorithm / TedllNZH

23) What type of attention is displayed when a child focuses all his attention on the task at hand, ignoring other
information? / ST F§ TTAT HYAT AN AT 39 F W FHiga Far §, 3R 357 ga=mat A
e FT §, O P YHR F 3y geiid gar §2

1. Selective attention / TellcHD A

2. Simultaneous attention / -{-Id-ldnlfaqv JddTed
3. Divided attention / T%T&Fd 37aeITeT

4. General attention / HTHICT 3T

Correct Answer :-

o Selective attention / IATcHD T

24) There is an addition of information to the existing information in learning./ T &

Hisrar SRR & v vw sfafed Twar ¥
1. Sporadic / %TEE

2. Spiral / after

3. Linear / Y@

4. Disjunctive / faarefr

Correct Answer :-

« Spiral / Gt

25) Who among the following did not propose a trait theory of personality? /

farafaf@a & & Fae cafFdaaa &1 v Rdvar Reua (2 o) gearfaa a@
1. Hans Eysenk / EF éﬂﬁiﬁ

2. Raymond Cattell / IHS ol

3. Albert Bandura / 37eeic ET'U§TI'

4. Gordon Allport / s 3ifemre

Correct Answer :-

« Albert Bandura / 3Teaic E:IIU?QT

26) An individual achieves the masculine or feminine social role during ./ wE @

& ghurer diww 71 For @ s{fAHT e Far
1. Childhood / ST (TTScSGS)

2. Adolescence / freiRmasar

3. Late Childhood / 929 §99<T (elc RIELERE)



4. Infancy / Qera

Correct Answer :-

. Adolescence / feiRrarer

27) Meta components, performance components and knowledge acquisition components are categories of:/ Aer YCoh,

yedie "ew 3R A wifta gew A & & fradr Aftrn &
1. Tripartite Theory/ T¥9&Nar facena

2. Triarchic Theory/ [ECIIE] @?{\UI?T

3. Allport’s Theory/ 3TAAE HT ﬁlﬁfﬂﬁ

4. Eysenck’s Theory/ 3-]1?:@3? 2l f@?{}ﬂ?f

Correct Answer :-

« Triarchic Theory/ T3eIOT—T m

28) Skinner advocated that learning was more likely to occur when/ f®&HeR & g&hrad 1 fF W@ar &ir
FHTGAT a9 3w g § o9

1. Explaining public events or observable behavior/ Arasifaies "3l AT ITcliepaiiT Sqdgil Fr AT FLAT
2. Observation of a behavior is followed by modelling/ T SIIER &1 3dcilehe Ufagel garT fhar Jrar g
3. Behavior becomes a reflex response to stimulus/ SIdgI 3dorel & foiT T gfaare gfdfhear s Srar %’I

4. Behavior is reinforced with a reward or punishment/ SIdgR @l Teh SATH AT TNl o AT Yafold fohdT SATAT
gl

Correct Answer :-

» Behavior is reinforced with a reward or punishment/ €ddgI{ FI Th SollH AT HSIT & IO1Y gdteld fohar Srdr

gl

29) Which one of the following methods is used to study the behavior of an individual in its totality? /

frafafaa A 9 fea faf &1 IuanT et sufdd & saagR &1 3P FHUEr § 3eudq o34 & g
o wirar 82

1. Observation Method / 3raclisra fafer
2. Experimental Method/ gaemeae fafer
3. Survey Method/ &deor fafer

4. Case study Method/ & ¥edr fafer

Correct Answer :-

. Case study Method/ & 3 fafer



Which of the following is a projective technique to assess the personality? / ﬁﬂ:ﬂ%l'@a ﬁ '\q Q)EFI' ?ﬂ H&}'TUT
AH1P ATHRIT BT ATHA B & ¢ gl @ ?

1. Rorschach Ink blot / IIMTeh TTET T ST (W HIC)
2. Interview / HI&ITch Y
3. Questionnaire /ILATTIT

4. Observation / Y&T0T

Correct Answer :-

« Rorschach Ink blot / ITh L R A RIS || (fm'lé? 3@0_@’1“3)

Topic:- General English(L1GE)

1) Rewrite the following changing the active sentence to passive.

The sun has ripened the fruit.
1. The fruit is ripened by sun.

2. The fruit is ripened by the sun.
3. The fruit was ripened by the sun.

4. The sun ripens the fruit.

Correct Answer :-

o The fruit is ripened by the sun.

2) Read the passage and answer the question that follows:

Michael Jordan was born on February 17, 1963, in Brooklyn, New York. Soon after, his parents moved the
family to Wilmington, North Carolina. Michael excelled at sports from an early age. Although he was cut from
the Laney High School varsity basketball team his sophomore year in high school, he grew four inches over the
summer and averaged 25 points per game as a junior. During his senior year, he became the only player in high
school basketball history to average a triple-double (at least 10 points, 10 rebounds and 10 assists per game).
In 1982, he was named a McDonald’s High School All-American and received a scholarship to play basketball at
the University of North Carolina. Michael quickly became a star. During his freshman year, he hit the game-
winning shot against Georgetown University that resulted in a national championship. After his junior year,
Jordan decided to enter the NBA draft. The Chicago Bulls picked Jordan up and his impact on the NBA was
legendary. During his first season with the Bulls, he scored 40 points or more seven times. Jordan’s exploits on
the basketball court continued to astound fans, coaches, and fellow players. From making spectacularly
unimaginable shots, to winning slam-dunk contents, the high-flying, tongue wagging Jordan soon became the
most popular athlete in the world. Intimidating and extremely competitive, he had a knack for hitting game-
winning shots and playing tenacious defense.

When and where was Michael Jordan born?
1. 17" February 1963, Brooklyn

2. 17" February 1968, Wilmington

3. 17" March 1936, North Carolina

4. 17%h January 1963, Brooklyn



Correct Answer :-

« 17" February 1963, Brooklyn

3) Read the passage and answer the question that follows:

Michael Jordan was born on February 17, 1963, in Brooklyn, New York. Soon after, his parents moved the
family to Wilmington, North Carolina. Michael excelled at sports from an early age. Although he was cut from
the Laney High School varsity basketball team his sophomore year in high school, he grew four inches over the
summer and averaged 25 points per game as a junior. During his senior year, he became the only player in high
school basketball history to average a triple-double (at least 10 points, 10 rebounds and 10 assists per game).
In 1982, he was named a McDonald’s High School All-American and received a scholarship to play basketball at
the University of North Carolina. Michael quickly became a star. During his freshman year, he hit the game-
winning shot against Georgetown University that resulted in a national championship. After his junior year,
Jordan decided to enter the NBA draft. The Chicago Bulls picked Jordan up and his impact on the NBA was
legendary. During his first season with the Bulls, he scored 40 points or more seven times. Jordan’s exploits on
the basketball court continued to astound fans, coaches, and fellow players. From making spectacularly
unimaginable shots, to winning slam-dunk contents, the high-flying, tongue wagging Jordan soon became the
most popular athlete in the world. Intimidating and extremely competitive, he had a knack for hitting game-
winning shots and playing tenacious defense.

How did Jordan continue to amaze his fans, team members and coach?
1. He kept growing taller and taller every year.

2. He made spectacular shots and won slam-dunks

3. He used to snatch the ball from his opponents.

4. He was too quick on his feet for his opponents to catch him.

Correct Answer :-

« He made spectacular shots and won slam-dunks

4) Read the passage and answer the question that follows:

Michael Jordan was born on February 17, 1963, in Brooklyn, New York. Soon after, his parents moved the
family to Wilmington, North Carolina. Michael excelled at sports from an early age. Although he was cut from
the Laney High School varsity basketball team his sophomore year in high school, he grew four inches over the
summer and averaged 25 points per game as a junior. During his senior year, he became the only player in high
school basketball history to average a triple-double (at least 10 points, 10 rebounds and 10 assists per game).
In 1982, he was named a McDonald’s High School All-American and received a scholarship to play basketball at
the University of North Carolina. Michael quickly became a star. During his freshman year, he hit the game-
winning shot against Georgetown University that resulted in a national championship. After his junior year,
Jordan decided to enter the NBA draft. The Chicago Bulls picked Jordan up and his impact on the NBA was
legendary. During his first season with the Bulls, he scored 40 points or more seven times. Jordan’s exploits on
the basketball court continued to astound fans, coaches, and fellow players. From making spectacularly
unimaginable shots, to winning slam-dunk contents, the high-flying, tongue wagging Jordan soon became the
most popular athlete in the world. Intimidating and extremely competitive, he had a knack for hitting game-
winning shots and playing tenacious defense.

Why was Jordan named the McDonald’s High School All American?
1. He grew 4 inches in one summer season.

2. He moved to the University of Carolina.

3. He became an American citizen.

4. He was the only player to average a triple-double.

Correct Answer :-



« He was the only player to average a triple-double.

5) Read the passage and answer the question that follows:

Michael Jordan was born on February 17, 1963, in Brooklyn, New York. Soon after, his parents moved the
family to Wilmington, North Carolina. Michael excelled at sports from an early age. Although he was cut from
the Laney High School varsity basketball team his sophomore year in high school, he grew four inches over the
summer and averaged 25 points per game as a junior. During his senior year, he became the only player in high
school basketball history to average a triple-double (at least 10 points, 10 rebounds and 10 assists per game).
In 1982, he was named a McDonald’s High School All-American and received a scholarship to play basketball at
the University of North Carolina. Michael quickly became a star. During his freshman year, he hit the game-
winning shot against Georgetown University that resulted in a national championship. After his junior year,
Jordan decided to enter the NBA draft. The Chicago Bulls picked Jordan up and his impact on the NBA was
legendary. During his first season with the Bulls, he scored 40 points or more seven times. Jordan’s exploits on
the basketball court continued to astound fans, coaches, and fellow players. From making spectacularly
unimaginable shots, to winning slam-dunk contents, the high-flying, tongue wagging Jordan soon became the
most popular athlete in the world. Intimidating and extremely competitive, he had a knack for hitting game-
winning shots and playing tenacious defense.

Give a synonym to tenacious.
1. Astonishing

2. Dumbfounded

3. Resolute

4. Flabbergasted

Correct Answer :-

* Resolute

6) Read the passage and answer the question that follows:

Although, the Rio Grande is not the longest river in America, it is one of the most important. Unlike other
significant rivers, it is not used for shipping because ocean going ships cannot navigate the waters. What
makes the Rio Grande so important is its location. Since 1846, it has been the official border of Texas and
Mexico. Because the river twists so much, it occasionally changes course. The river starts in Colorado and
extends downward to the Gulf of Mexico. Downward is the best way of describing it too. Not only does the river
extend south, but it also starts in the mountains and gets lower and lower in elevation as it extends to the Gulf.
Its name is Spanish for the “Big River,” but the Rio Grande is actually known as Rio Bravo in Mexico. “"Bravo”
translates as “furious,” so the name makes sense. Because of its twists and turns, it certainly does seem to be
angrier than most rivers! The Rio Grande today is mostly used as a source of drinking water. Sadly, much of the
water has been drained from the river and parts of it are almost dry! This is because people use more water
from the river than the river can get back from rain and other sources. Experts are working to correct this,
though, with hopes of restoring the river to its past strength. Today, the river is important as a source of water
for Texans and Mexicans. More important, it is a symbol of cooperation between two nations. The Rio Grande is
therefore a symbol of friendship and peace between two peoples.

Why is the Rio Grande important?

1. It has many twists and turns that change course.

2. It is a very long river.

3. It is looked at as the official border of Texas and Mexico.

4. It is used by ships to navigate from place to place.

Correct Answer :-



o It is looked at as the official border of Texas and Mexico.

7) Read the passage and answer the question that follows:

Although, the Rio Grande is not the longest river in America, it is one of the most important. Unlike other
significant rivers, it is not used for shipping because ocean going ships cannot navigate the waters. What
makes the Rio Grande so important is its location. Since 1846, it has been the official border of Texas and
Mexico. Because the river twists so much, it occasionally changes course. The river starts in Colorado and
extends downward to the Gulf of Mexico. Its name is Spanish for the “Big River,” but the Rio Grande is actually
known as Rio Bravo in Mexico. "Bravo” translates as “furious,” so the name makes sense. Because of its twists
and turns, it certainly does seem to be angrier than most rivers! The Rio Grande today is mostly used as a
source of drinking water. Sadly, much of the water has been drained from the river and parts of it are almost
dry! This is because people use more water from the river than the river can get back from rain and other
sources. Experts are working to correct this, though, with hopes of restoring the river to its past strength.
Today, the river is important as a source of water for Texans and Mexicans. More important, it is a symbol of
cooperation between two nations. The Rio Grande is therefore a symbol of friendship and peace between two
peoples.

How is the Rio Grande considered among the Texans and Mexicans?
1. The people are using more water than required.

2. They are continuously fighting for its water.

3. Both the different people want to make dams across the river.

4. It is a symbol of friendship and peace.

Correct Answer :-

o Itis a symbol of friendship and peace.

8) Read the passage and answer the question that follows:

Although, the Rio Grande is not the longest river in America, it is one of the most important. Unlike other
significant rivers, it is not used for shipping because ocean going ships cannot navigate the waters. What
makes the Rio Grande so important is its location. Since 1846, it has been the official border of Texas and
Mexico. Because the river twists so much, it occasionally changes course. The river starts in Colorado and
extends downward to the Gulf of Mexico. Its name is Spanish for the “Big River,” but the Rio Grande is actually
known as Rio Bravo in Mexico. "Bravo” translates as “furious,” so the name makes sense. Because of its twists
and turns, it certainly does seem to be angrier than most rivers! The Rio Grande today is mostly used as a
source of drinking water. Sadly, much of the water has been drained from the river and parts of it are almost
dry! This is because people use more water from the river than the river can get back from rain and other
sources. Experts are working to correct this, though, with hopes of restoring the river to its past strength.
Today, the river is important as a source of water for Texans and Mexicans. More important, it is a symbol of
cooperation between two nations. The Rio Grande is therefore a symbol of friendship and peace between two
peoples.

What is the river used for these days?
1. It changes its course frequently.

2. It is a good source of drinking water.
3. It is used for movement of large ships.

4. People move along the river on boats.

Correct Answer :-

» Itis a good source of drinking water.



9) Read the passage and answer the question that follows:

Although, the Rio Grande is not the longest river in America, it is one of the most important. Unlike other
significant rivers, it is not used for shipping because ocean going ships cannot navigate the waters. What
makes the Rio Grande so important is its location. Since 1846, it has been the official border of Texas and
Mexico. Because the river twists so much, it occasionally changes course. The river starts in Colorado and
extends downward to the Gulf of Mexico. Its name is Spanish for the “Big River,” but the Rio Grande is actually
known as Rio Bravo in Mexico. “"Bravo” translates as “furious,” so the name makes sense. Because of its twists
and turns, it certainly does seem to be angrier than most rivers! The Rio Grande today is mostly used as a
source of drinking water. Sadly, much of the water has been drained from the river and parts of it are almost
dry! This is because people use more water from the river than the river can get back from rain and other
sources. Experts are working to correct this, though, with hopes of restoring the river to its past strength.
Today, the river is important as a source of water for Texans and Mexicans. More important, it is a symbol of
cooperation between two nations. The Rio Grande is therefore a symbol of friendship and peace between two
peoples.

Why is the river given the name of ‘Bravo’?

1. Bravo means furious in Spanish.

2. It looks angrier than other rivers because of its twists and turns.
3. Even though it has become almost dry it is still flowing.

4. It is given the name because it has many twists.

Correct Answer :-
o It looks angrier than other rivers because of its twists and turns.

10) Read the sentence carefully and choose the option that has an error in it:

Do not laugh on the poor.
1. the poor.

2. Do not

3. laugh

4. on

Correct Answer :-

11) Fill in the blank with the correct option in the given sentence:

An angel of the first rank is an —angel.
1. intro --
2. intra --
3. arch --

4, ex --



Correct Answer :-

e arch --

12) Fill in the blank with the correct option in the given sentence:
At my slight -- movement, the snake would strike me!

1. --ing

2. -ly

3. --est

4. --er

Correct Answer :-

13) Fill in the blank with correct determiner in the given sentence:

Reciting a table of two is so easy that _____ child can do that.
1. few

2. any

3. no

4, all

Correct Answer :-

14) Report the following statement.

“Did you come from India?" said Sara to the boy.
1. Sara said to the boy did he come from India.

2. Sara asked the boy if he comes from India.

3. Sara asked the boy if he had come from India.

4. Sara asked the boy if he have come from India.
Correct Answer :-

« Sara asked the boy if he had come from India.

15) Choose the appropriate tense to fill in the blank in the given sentence:



I in my diary every day since August.
1. will be writing

2. have been writing

3. has been writing

4. had been writing

Correct Answer :-

« have been writing

16) Choose the right tag:

Harry got badly injured in an accident. Before that the friends used to play football very often,  ?
1. hadn’t they

2. weren’t they

3. didn’t they

4. did they

Correct Answer :-
o didn’t they

17) Choose the right tag:

We are dining out today, ?
1. are we

2. aren't we

3. don't we

4. do we

Correct Answer :-
e aren't we

18) Choose the appropriate prepositions for the given sentence:

The manufacture computers is very essential

our economy.

1.in ... for
2. 0of ... to
3. on..into

4, for ... in

Correct Answer :-



19) Choose the appropriate antonym for the highlighted word in the given sentence.

She is such an aggressive player that she always tries hard to win.
1. ambitious

2. selfless

3. laidback

4. foolhardy

Correct Answer :-

« laidback

20) Choose the appropriate conjunctions for the given sentence.

Hedrove ____ fast____ hecan.
1. neither ... nor

2.as...as

3. both ... and

4, either ... or

Correct Answer :-

21) Choose the appropriate option that rewrites the given sentence in its passive voice.

We have bought a new car.

1. A new car is been bought by us.
2. A new car have been brought.

3. A new car has been bought by us.

4. New car has been bought by us.

Correct Answer :-

« A new car has been bought by us.

22) Choose the appropriate tense to fill in the blank in the given sentence:

He knew that she as her eyes were red.

1. had been crying



2. has been crying
3. is crying

4. was crying
Correct Answer :-
» had been crying

23) Choose the appropriate synonym for the highlighted word in the given sentence.

Survey reveals that learning a second language fuels children’s intelligence.
1. provokes

2. adds fuel

3. reflects

4, strengthens

Correct Answer :-

« strengthens

24) Choose appropriate articles for the given sentence:

Middle East has moreoilin_____ ground thanin _____ United States.
1. The ... the ... the
2. The ...a ... the
3. No article required ... the ...the

4. No article required ... no article required ... the

Correct Answer :-
e The.. the ... the

25) Choose appropriate article for the given sentence:

India is a big country which is proud of its diverse cultures.
1. The
2. No article
3. An

4. A

Correct Answer :-

* No article



26) Choose an appropriate modal for the given sentence:

My father not afford to buy books so he borrowed them from the pubilic library.
1. would

2. could

3. should

4. must

Correct Answer :-

e could

27) Choose the most suitable pronoun for the given sentence:

I love carnations. flowers are from my hometown.
1. Those

2. They

3. This

4, These

Correct Answer :-
e Those

28) Choose the option that substitutes the given phrase appropriately.

A large building that usually houses aircrafts
1. Driveway

2. Hangar

3. Tarmac

4. Parking bay

Correct Answer :-

29) Choose the option that best explains the highlighted expression:

He is popular amongst all the villagers. He is the salt of the earth.
1. an emotional person
2. a good and honest person

3. an angry person



4. a humble person

Correct Answer :-

¢ agood and honest person

30) Which of the following options best combines the given sentences?

The child is very young. He can't lift weights.

1. The child is very young, so only he can't lift weights.
2. The child is so young that he can't able to lift weights.
3. The child is too young to lift weights.

4. Being a very young child, he can’t be able to lift weights.

Correct Answer :-

e The child is too young to lift weights.

Topic:- General Hindi(L2GH)

1) T T ATHR 4T o,

AR Aren wiA AR IGNSh

AT G I TR fd IS 01 URY |
fe=ra § o el |, Mg <em |
AT T TN URY, AT YT W= |
YT WAt SR uR, i arat It
R T Hanar W, Td dsidt Aqrarl
fieTa d 99 wR1a, Ag= gRe! aran|
iafeaT I I U, UER g A5l
et ¥ra wy gHor, S SwATSh 7 dRi
R 31 vy RR ANR, feas! gun arefiRy|

ITYE Ui B UgHR A9 YD T Y BT IR gaT33:
- "UTR’ WTeg HT 34 § -

1. 91T (9T3)

2. faer

3. @i (@r3)

4. 9d

Correct Answer :-

2) WM B 9IHR @l S,

ARYT aTen WA ArHR TGt |

AT G I TR Fd IS 01 TRy |
fe=mas & oo et ®, Mg dfem )
D W SRV URY, GHROT URY W |
YT et SR uR, i arat It



AR FTe fareR |y, e Isidl A
figRTa d 99 w4, Ag JRe! aren|

&1, a1 7ed JuId fag e g et
TIGRAT I T UTR, UgX gt 915 |
el ITa Uy TRHOI, IS STHATSH T R |
Wi 1 7Y FARER AR, fRast goit srehiRT

IUYa Ui B UGHR -1 YD T Uy BT ITR aTgd:
- “STHATSN 1 AR BT 3w § —

1.3 § P

2. ST T YRT

3. FHAT HT FRART

4. STel ol HIT

Correct Answer :-

3) W M 96 El o,

FARY aTe WA arsR T |

TP &R I AR, A IS 01 ur |
fe=Ta & o1 et &, M efem )
AT W SRV URY, GHROT URY TR |
YT et SR oy, i arat It
R gire faraR Wy, Ta dsid Arar|
fiezTa d 99 wR1a, We= gRet aran|
&1, a1 7ed JUId fag e g et
TINAT I TV UTR, UgR g 915 |
el ITa Uy GHOI, SIS STHATSH T AR |
Wi 71 7Y FARER AR, fRast ot srefiRT

IUYa Ui B UGHR A YD Y Uy BT STR gaTgd:
U - fEas! ot SefRT e A FT ARG 7 2
1.3 § P

2. BT &I YATT 8lell

3. ST HT GA gl

4.8 T hIHel glel

Correct Answer :-

4) WY A TS @l o,

T e w1 A g

ATHT T I T (d IS A0 TR |
fe=Ta & o1 et &, Mg <hem |
T W SRV YR, AT URY TR |
YT et SR uRey, i arat It
R gire farar Wy, Ta I Arar|
figRTaa 9 99 W, Aig JRe! aren|



[TafT I AT URY, UgR g 151
aneft ¥ra vy gwaon, S swASh I R
Rt 71 9y FRER TR, fRas) gont sreiR

ITYT U B UgHR A9 YD T Y BT IR ga133:

U= - U Ue ® ¥afar &1 qui i man, sarse 59 R sia § 2
1. #ARETS

2.3

3. PRYRY

4. H1H

Correct Answer :-

5) M M 9I$HR @l S,
ARYR aTen WA ArHR TGt |

TR IGR I AR (7 IS 01 TRy |
fe=Ta § o el &, M <fem |
ATH W SRV YR, AT URY TR |
YT et SR uRey, i arat It

R ITe Hanar W, Td dsidt Aqrarl
fieRTa d 99 IR, Ag= gRe! aren|
HiafaT I AT U, UER HwE A5l
31eft 379 WY ST, el TS 7 R |
R w1 vy FRR ANR, feast gon erefiRy|

S UeiY b1 Uge] A1 IR T U BT IR qa15a:
U= - U ue ® WRT 3 yfd for wra &1 82
1. A

2. ag
3. 9T

4. 9T

Correct Answer :-

6) ITH T TATH @l o,

ARYR aTen wWA ArHR TGt |

TR G I TR fd IS 01 TRy |
fSezTa & $o el A, Mifde e T
TATH W SRV YR, AT URY W |
YT et SR uR, i arat It

R gire faraR W, Td Al AT
fieRTa d 99 R, Ag= gRe! aran|
Wiafear 31 o Uy, veR gwt aré |



el Ira Uy TeHOT, SIS STHATSH T AR |
R w1 vy AR MR, fRast gont erefRT

IS TR B U ) UD ¢ UY HT I ga13d:
U - AP H & W1 3} 5 91 &1 @y 481 ghm 2
1. ST & I

2. {iFd A T

3. giaveT

4. &l

Correct Answer :-

o ST el &I

7) T B IIHR @l S,

ARYT aTen wWiA ArHR Tt |

ATHT G I TR fd IS A0 TRy |
fe=ma § o1 el #, Mg <hem |
T W SRV URY, AT URY WRA |
YT Tl SR ur, i et IR
R gire fiaraR W, Td Al AT
f¥ezTa § 99 wR1a, g gRe! aran|
[Taf¥aT I AV URY, UgR gl Aq13 |

et Ira wy gon, S SwATSh 7 dRi
Rt 1 9y ARR TR, fRas) gont sreR)

IUYad U= B Ugh: 19 IR T UY HT IR 9ad133:
U - PU T WU R ?
1. hael T UROT A dTel

2. hdel M el dTell
3. el G Ugst g
4, 39erd FHY

Correct Answer :-

o 3WIFd T

8) WTH T AT Il o,

ARYr aTen wiA ArsR Tt |

ATHT G a7 T fd IS 01 TRy |
fezTa & $o el A, Mifde e M|
TS T GIAT URY, AT TR, R |
YT YTt SR urey, i arat It
R gire fanaR Adie, Ta deidt Ararl
figRmas ® 99 W19, Wi gl aran|
&1, a1 7ed JuId fw o g et
TIRAT I TN UTR, UgR gt 91 |

el Ira Uy THOT, SIS STHATSH T AR |
R 1 vy AR NR, feast gont erefRT

ITT U B UgHR A1 I TT Y BT IR Ia133:



W - TR Ul & HiR1, 01 | 1 a9 @ faerelt et @2
1. INTIRT

2. gray
3. 9ff e
4, 9ot

Correct Answer :-

9) T Fgit AT T@T S,

e dTen Fgia AR @i

AT FE, 90T T, AT 35 S@or 9y
fietaa & o1 ot &, e e 7
m#mwmwwmwﬁm
mmmm?ﬁﬁmml

AR e dawat |, o d5icl A
fieras & O =XE, Ager AT T

Fa1, 391 Agw qona e T w1 el
mnmmwmv-ﬁ%rml
mtﬁrmwaww,a—q’rma"rrr?hm
wﬁrirrwa;mww,%as’rwﬁmﬁﬁl

39YFd YGIIRT P YGHF A qF AT WA FT IR qaABA:
YT - FHFE TR FT FIAT ITAT 2

1. el ATEY

2. HARAT AT

3. 9idT ¥ SI8Y |ier

4. 7 amS

Correct Answer :-

o HERAT FIEY

10) T Fg IIT &Y S,

R aTer Tl AT @l

AT TEEL a1 T AT 35 xEr a|
fetras & For o #, Mg dem Ty
W#WWWWM|
mmawﬁﬁm?hﬂmml

AR e daat |, o A A
hma#ﬁawm:mﬁml

¥, 391 Agw quma e T 1 9wl
|laRAT T I/ Iy, TER FYFAl TS
e T 8] &Twor, A SIHEAS T |
#RT T W PR anR, Rast goit ek

3UYFA TSR B TGH ol IS AT WA FT 3/ IR
weeT - ‘AT ¥ -

1. &hlell a9



2. el g
3. 9relT a8
4. 80 9

Correct Answer :-

o Olell a&F

11) TIH FFeT T TET S,

e dTen FEia AT @S

AHT @Y a0T T, fAd 36 ST@0T arey |
Rietras & For o A, Mg dem Ty
ATH F GIHOT I, GATOT I, @A
H1T Srarelt SN ared, e, amar |

AR e dawat |, o d5 A
fietraer & 99 WA, Ager FI aren|

Fa1, I Age 9o fow A v
mummmmml
mmwma—a’rmu?ﬁm
mﬁrrsragﬁnnm,%ag’rtrrrﬁmﬁﬁl

39T YGIIT P YGHF A YF AT ToA FT IR B
yeet - HRr Rraehy s &2

1. hddl Hgel Hr

2. haer [Fury &

3. Shaol UTH Hr

4. I FefY

Correct Answer :-

o 3WIFd T

12) TH T 96T & S,

PR e 7 T T@S|

AT EE, a1 T, AT 35 ST@or 9|
e & For ot &, ;Mg ofrem )
W#WWWWW|
mmawﬁfrm?hﬁmml

AR Fere dawat |, o 35 A
ﬁﬂﬁﬁ#ﬂﬁwmﬁmml

¥, 391 Agw qona " T w1 9l

AT T GTHOr 9, TEX FgF W

el I 99 EIWor, AT SIAaArS U AR

#RT T 73] PR AnR, Rast gt aredR

3UYFA TSR Y TGH ol Y& AT WA FT 3R A
WS - GEId YGH Y HIST FAT 82

1. GofTelT

2. s

3. @3 el



4.=§HBFﬁ

Correct Answer :-

13) T FgA g @ S,

e dTen FEia AR T@ i

TH FE T A AT 35 Swwor o
e & For o<t &, afdg ofrem e
m#mwmwwmwﬁm
mmmm?ﬁﬂmml

AR e dawat |, o d5ic A
fieras & O =X, Ager AT e

Fa1, 391 Agw qoma e T wg el
mnmmwmaﬁl
mtﬁrmwaww,a—q’rma"rrr?hm
wﬁr’rrrsra;mu'rm,%az‘rw’rmﬁﬁl

394Fd UGIIRT B YGH A qF AT WA FT IR qaABA:
Y - O] &7 GAIarH g AE § 2

1. 3mT

2. {JedAT

3. Harl

4, Qfgofy

Correct Answer :-

14) T FF I &Y S,

R dTer FEia AT @t

AT TEEL AT T AT 35 gxEr a|
fetras & For o #, Mg e Ty
W#WWWWM|
mmmmmmmu

AR e daat |, o 35 A
hma#ﬁ?rwmﬁmml

¥, 391 Agw quma e T 1 9l

Fiafar T GTwor 9y, 9T FgH W

3meft I 99 EIWor, AT SIAASA T AR

#RT T W PR anR, Rast goit ek

3UYFA TSR BT TGH ol IS AT WA FT 3] B
WS - GAIOT Asq FT Y FAT §?

1. ARTST gl

2. gegef

3. QT

4. g1 &l

Correct Answer :-



15) T FF I @ S,

R aTeT Tl ST TaEe

A @, AT M, AT 35 Gx|or are|
fieras & For o #, Mg e Ty
AR F IO IR, JHEROT UG @I
HIT $7eTelt AR Iy, ofie] aTat aX

AR e darat |, o 35 A
hmw#ﬁawmamﬁml

¥, 391 Agw Tuma e T v 9wl
|laRAT T EIWOr Iy, TE} FYFAl A
el T 8] &Twor, dSA SIHEAS T AN
#RT T W PR e, Rast goit ek

3UYFA TSR BT TGH ol IS AT WA FT 3/ T
T - g ST HRT FIAT-FAT FIT A8 & ?

1. ael G &

2. %l M SR

3. hddl Wllell 3T

4. I FefY

Correct Answer :-

o 3WITd T

16) &t &1 foar g o afe ygm™ &1 € uftomy B at goul &1 fsar gom ol oft 3=t faem Sk Riem &1 &t ufvomy
U AR 0 F NA BH1, AR B, STh STEI, TG BT, T A1 A T qfe Ue-fore™ &t &1 ufeoma gt
af 9R B, A 3 Wﬁmmluﬁﬁf&m ammﬁa‘raﬁ?qa'qawﬁ%mﬁﬁaﬂaﬂmaﬂﬁ

aﬁagatﬂmrﬁlﬁﬁlWﬁmﬁﬂmmﬁq—%ﬁmwﬁmnﬁaﬁ?wagugﬁ?ﬁ%—“arr&y,

TN FST 33T HTH fhar Y W w1y Td-faars w3 gor 1 i, <, aeER, ok ud @t smu yeaer gfd 81 el
TR gv-F-gv SAraR ¥ S 399 T SR 7@ § @ AT-UTd 1 fbfae of 3 78 wad | War 3 siftre amedt wit
T8 it S | oy 13 3, Wgpaan Aew ®, srumfa g3 Wdpaan & gwd & fawy A gafer Feaarre @ A ufvaed g

W a1 & s & Ava § R FEerargrTa 8, G- dean SR1 39 IS A B o1 {6 87 d g oife & ara €

3T ¥ Fedv Ut faxrsar anfaa & &t <&t o wR off, @it & g & e frarare gaes 1 gum g9 ofs fan @
UE ITd N PO & IR 8?2 YT T I8 TORY g a1 AE1 I 2T 37 aredt 32

ITY TR BT UgHR 1 IS ¢ UY BT IR 9q154:
- EIIISar o1 e g 3 ?

1. 3rEATHTIASHAT

2. FgIdT

3. HYEAR

4. 31T

Correct Answer :-

o 3EATHTIASRAT

17) &t o1 foar ganm o afe yem &1 € uftomy @ at gout &1 frar gom ol oft 3=t faem ok Rigm &1 € ufvomy
AT ALY | T0 F M BT, RN BT, STh ST, TG B, T A1- A T f e-fora=t €1 &1 ufvomy gt
dl AR P, T AR gr3rarydag g1 St Aifgg | Uy faféra, araaafdl ok 76-7awi® Riar ¥t gefta U=t w34



I 954 & F AN | Tpaen A gHT B F IR eI BIF-U SR@TUTRIFar fErs? 1 9 98 wedl fr- e g,
TIETRN FST 33T B fhar oY WY A1y T=ud-faarg s gor Ui Aifq, <, GemR, ok o« @t 3y e gfd 817 uelt
TR gIv-8-gIv AR $IP S ITQ WA 311 T & d Tg-wauTg &1 fbfaeq o 39 78 v | dtar @ siftre aredt wi
T8 gt S| oy #1Y A, Wpaen e ®, sumfaa g3 I$paan | gwd & fawy A gafw Feaarare @ A w8
R i & HEs & v § | FEaarar §, G- aET0n SRT I IS F $F <41 fH A7 9@ gen ¢ife & a8
3T H Fed Ut fagrsan arfaa & &t &t fog wR o, @il & g & e framare gaes 8 gue g9 ofs fean «n
T8 9T TR A & Y 82 YT T I8 oY Frge1 a1 7gn 1 2T 37 aredt 82

SIS TR BT UgHR -1 Y T Y HT ST 153!
UH- 3T’ § IuRA Fa1sy ?

1.9

2.%9

3. 317

4. 31

Correct Answer :-

18) fXoral &1 foram gan s afe e &1 &t ufvoma 3 &Y goul &1 foar gam s oft 3=t faem SR Riam &7 & ufvoma
U AT | TH F NS Bp1, AR B, ST STAI, FHFI BT, gH A1- T g yg-fora 8t &1 ufvomy gt
a 9R B, ¥d 3R wawazs‘rm-—ﬁm%muﬁﬁ%ﬁh Wﬁﬁaﬁ?qaq?wﬁ%mﬁvﬁa?ﬂﬁﬂmaﬂﬁ
m@ragazﬁmﬁaﬁlwﬁ B H¢ IR eI BIF-U AR@TUTRIF T fears? 1 98 98 Fodt - arrtfga,
Wlwmmﬁmwﬁﬁ%wum faare v e Y| i, =g, geER, iR o @Y 3y ywer gfd 81 uelt
wW—#—W@mﬂmﬁﬁmwmr@%%%uﬁm-wmm%ﬁﬁmaﬂqﬁwﬁl%ﬁmﬁaf&ra?meé’rﬁﬁ
T8 gt S | oY 19 3, WA Aes ®, sy g3 W$aan 9 gwd & fawy A gafer Feaarrs I 7 ufvaad g
TR a1 | s & g & w1 Feaargrn 8, G- dEgHun SRT I ST S $§ AT 6 A7 9 R St F qra &
3T A Fgdv U fagpar ifaa w7 &) &t o = off, @t & g & Frear framare gaex € g g3t ofs foan =
UE ITd TN PO P IR 82 YT T I8 FEONY g a1 AE1 I 2HT 37 aredt 32

ITY TR BT UgH -1 IS T Uy BT IR Ia154:
- 3T H T ST RN TS ?

1. 3myfareh gler

2. fagresr gler

3. ge gl

4. fagrer gl

Correct Answer :-

. faged gl

19) &t &1 frar g o afe yem™ o1 € uftomy @ @t gout &1 frar gam ol oft 379t faem ok Rigm &1 & ufvomy
U AR 0 F MA BH1, AR B, STd STEI, FHRFT BT, TH A1- A T g ve-fre™ &t &1 ufvomy g
Al AR BIde, T@d 3R Fr3warv ag g1 S aiee | uR=g fafdrad, araeafidl ok 7a-7eweid faar Ut gefia 91 B

mﬁagaiﬁmrﬁlaﬁlW%mﬁwmwﬁwﬁmwﬁmﬁm@wwwﬁ?ﬁ%— "3 g7,

TMTETRN TST 3BT HTH fhar oY W W1y Td-faare w3 gor 1 i, <am, gemr, o ud @t smu yeaer gfd 81 uelt
TR iv-8-gIv AR $IP S 3TQ WA 1= T & F Ige-wquta &1 fbfaq o 39 78 v | dar @ siftre aredt wi
T8 gt S | oy +1Y R, paan e |, srumfaa g3 Wdpaan | gwd & fawy A gafwr Feaarare @ A ufvaea e

TR a1 | IEs & fwa & |’ FEaarar T 8, G- agaun SRT I N1 S F <47 $ AR 9 R ifa & aram &

3T H FHad Ut fagrsar arfaa & &t &t o i o, @i & g & fean firamare g 8 gue g9 ofs fean «n
g 91d R $A & I 82 YAl 1 J§ GRT fdgT a1 7T HI THT & aelt 32

ITT TR BT UgH -1 TS TT UY BT IR Ia159:
U= - g3u1 @ e &1 sder uRomm @ 2



1. shdel IRT AT

2. %hdel 9H & el el
3. hael HIST FI gl Hll
4. 39 Tl

Correct Answer :-

o 3WITd T

20) &Y &1 forar gan e afg wer &1 €Y uivomy @ &t goul @1 fbar gam o oft 3wt fae ik Riem &1 & ufvomy

AT AT T &b NA BH1, RGN 1, STH SIAA], FIG7 BT, T A1- T 9 g-fRra= &t &1 ufiomy g
a’mﬁaﬂﬁﬁ ¥R 3R grewrerg e € St Aifey | weg fafde, Wf‘u?ﬁaﬁ?qa'qm?ﬁ%mﬁvﬁa?ﬂaﬂwaﬂﬁ
mﬁmﬁmﬁaﬁlwﬁ B Hg IR eI BIA- SR@TUTRIF T fEars? 1 98 98 Fedt - am:fga,
mmlammmﬁmvhﬁ%wuwa‘ faarg ®3& e U1 Hifa, =g, e, iR o #Y ey woer gt 31 uelt
uvﬁv—#—akmm%vhmﬂaﬁ&mmﬂ%%m-wmmﬁﬁmﬂmaﬁwﬁl@ﬁm%art‘wwé’rwh
T8 it S | oy 1Y A, Wgpaen Aew ®, srumfa g3 Wdpaan A gwd & fawy A gafwr Feaarare @ A ufiaed g
TR a1 & IEs & fwa § /T FEaarar T 8, G- a&gHun SRT I N1 S $§ <41 $ A 9 R g & ara- &
3T & Fgh U fagar anfaa 7 &1 <t fora w off, @ & 3@ & e framare gaex € gaa g9 ofs faan &
% 910 GO T & I g7 3YaT T I§ JFOTRT g1 a1 71 ST THT 3 arelt 82

ST TR BT UgHR -1 IS T Uy BT IR 9a154:
U - ‘P&’ BT UUiaar Xeg R AL 8 ?

1. GERT

2. %¢d

3. FofaT

4, 9RaR

Correct Answer :-

21) & &1 foran gam o afe uem™ o1 € uivony 2 @t gewt &1 frar gam aref oft I=at faemm ok Riem &1 € ufvomy
TUFAT ALY | T0 F MA BT, AReT BT, STH STAH1, FHFI B, T A1- A T afg uegA-Rra= 1 &1 ufvomy gt
al IR Piaw, B AR mﬁaﬁaﬁmmﬁm R 7E-Tewid Ryar it gdia U= HeA

I 954 € F AN | Tpaen A gHd B F¢ IR eI BIH-U SRATUTRIF AT g ? T 98 98 wedl fr- “amd g,

TIETRN FST 33T B fhar oY WY A1y T=ud-faarg s gor v Aifq, <, SemR, ok v @t 3y waer gfd 817 uelt
TR gIv-8-gIv AR $IP S ITQ T 311 T & d Ag-TauTg &1 fbfaeq o 319 716t v | dar @ siftre aredt wi
T8 gt S | Ry #13 R, Wpaen e ®, sumfad g3 Wdpaan | gwd & favy A gafw Feaarare @ A ufvaed g

R T & HEs & v § | FEaarar §, GHU- aET0n SRT I IS J $F <A1 fH A7 9@ gen ¢ & a8

3T A Fgd U fagar arfaa 7 &1 <t o w off, @it & g & e framare gaes € gua g9t ofs foan «n
TE 9T TR A b AU 82 YT T I8 oY Farge1 a1 7gn 1 2T 37 areft 82

SRS TR BT UgHR -1 Y T UY HT 3TN Ia153:
W= - T 2reg @ A 3 2

1. f&ar & gA

2. g

3. FRRfed

4. 4rst

Correct Answer :-

UG



22) & &1 foran gam o afe uem™ o1 € ufvony B @t gout &1 fosar gam oref oft 3=t faem ok Riem &1 € ufvomy
U AR 0 F MA BH1, AR B, STd STEI, FHRFT BT, TH A1- A T qfe Ue-fore™ &t &1 ufvomy gt
A R P, Td 3R FTSIMY §¢ gt -1 arfeg | Wy fafaray, ammf‘u?ﬁsﬁvqa'qawﬁ%?mﬁ?ﬁa?ﬁﬁﬂwm

aﬁa‘gaé’twﬁa?rlWﬁgﬁiﬁaﬁm—gwwaﬁmﬁrmmﬁaﬁnﬁ@ﬁ?wagugﬁ?ﬁ%—“arr&ga,

TMTETRN TST 3BT HTH fbar s W [y Td-faars w3 gor 1 A, =, geEr, ok ud @Y sy geaer gfd 81 uelt
W FIv-F-giv AR & S 399 TH SR TEd § @ AT-UTd 1 fhfaeg of 3 981 v | War 3 eiftre amedt wit
T8 gt S | oy +fY A, Wgaen e ®, srumfaa g3 Wdpaan | gwd & fawy A gafwr Feaarare @ A ufraea g

TR a1 & IEs & fAwa § |’ FEaarar T 8, G- agaun SRT I ST S $§ <41 5 AR 9 R ifd & ara- &

3T & HedpR U fagsan urfaa &= & A1 o wR off, N & g & e frarare g € guA g3t ois faan &0
g 919 TR T & 3T 82 3(¥al FIT Jg gReR} fIg=T a1 Tg<m $) T 3 areft 32

ST TR BT UgHR -1 IS T Uy BT IR 9a154:
WA - U el $T 3T ¢ ?

1.3TH q IS T

2. ARy T AT

3. AR el

4. AR T TIATE

Correct Answer :-

o AR AT

23) & &1 faran ganm o afe ugm™ o1 € uikony 2 @t gowt &1 fbar gam aref oft 379t faem ok Rigm &1 € ufvomy
U AR 0 F M Bh1, AR B, ST STEHI, FHRFT BT, H A1- A T Ffe ve-fre™ &t &1 ufkomy gt
al AR P, T AR g3y as g St Aifge | uReg faféra, araaafi«l iR 76-7awid Riar ¥t gefta Ut we3

I1d 9gd & HH QAT | AP aar I g B B I BB HIH-U SRATHIISB T g ? T 98 g8 wed! - “emd g,

TMETRM FST 33T BT a1 o WY Ty T=d-Ryars w3 g eI e, =g, Jemr, ok of 9t snu yeer gfd 81 ot
TR gIv-8-gIv AR $IP S 3TQ WA 311 T & F Tge-wquTg &1 fbfaq o 39 78 v | dar @ siftre aredt i
T8 it S | oy #13 R, Wpaen e ®, srumfaa g3 W$paan | gwd & fawy A gafw Feaararg @ 7w g

TR a1 | IEs & g § O Feaarar T 8, G- agaun SRT I T S F o7 1 A 9 R ¢ifa & qram &

3T H FHad Ut fagrsar arfaa & &t &t fog iR o, @i & g & fAean firamare gaes 8 gue g9 ofs fean «n
g 91d TR $A & I 82 YAl 1 J§ GRT fdgT a1 7T HI AHT & arelt 32

IUT TR HT UgHT 1 U T Y HT 3T Ia153:
U - AGadT A gid B BePR B ?

1. 9oy foRam o

2. IEATHGAT Gehe T &Y

3. TATHTIARAT Wehe T &Y

4.9q fear or

Correct Answer :-

o TATHTTASAT Tehe T &Y

24) f&rat o1 farar g o afe wem &1 & ufivoma B ot goul &1 fbar gon s oft 39! famm ok e &1 & ufvomy
U AR | TH F NS Bh1, TREAT B, ST STAHI, FHF BT, gH A1- T Ffe yg-fora gt &1 ufvomy gt
a‘mﬁaﬂaﬁ @d 3R wawazs‘rm-—ﬁmi%muﬁmﬁh Wﬁﬁaﬁ?qaq?wﬁ%mﬁvﬁa?ﬂﬁﬂmaﬂﬁ
m@ragazﬁmﬁaﬁlwﬁ P Hg IR eI - AR@TUTRIF T fears? a1 98 g8 wedt - arrd’ga,
mlwmmﬁmwﬁﬁ%wuwﬁ faare v e Y| Y, =g, geER, iR o Bt 3y ywer gfd 81 uelt
wW—#—WWW@IMQ@Imr@%%’%uﬁw-wmm%ﬁﬁmaﬂaﬁwﬁlwﬁm@rarf%ﬁ?msé’rﬁﬁ
T8 gt S | oy 19 7, Wgaan Aes ®, sy §3 M$paan 9 gwd & fawy A gafe Feaarars I 7 ufvaed g
TR Har | s & g & w1 Feaargrn 8, G- dEgHun SRT I ST H F AT [ AR 9 R St F qra €



3T H Fad Ut fagrsar arfaa & &t &t o iR o, @i & g & fAean firamare g 8 gue g9 ofs fean «n
g 91d R $A & I 82 YAl 1 J§ GRRT fdgT a1 7T HI THT & arelt 32

I TR HT UgHT 1 U T Y HT 3T I3
U - T A S g ?

1. 921

2. ST HT A

3. afda &1 a1H

4. el &l oTH

Correct Answer :-
o U

25) & &1 faran gam o afe ugm™ o1 € uivony 2 &t gewt &1 fbar gam aref oft IAat faem ok Rigm &1 & ufvomy
U AR T0 F M Bh1, AR B, ST STeA1, FHRFT BT, gH A1- A T g ve-Rre &t &1 ufvomy gt
@ IR BIA, ¥ d MR FrEwrarvde g St A1t W fafdra, araeafial sk 75-7ewid fyar Rt gefta = s

I 954 & F AN | Tpaen A gHd B F¢ IR eI BIH-U SRATUTRIF T fErg? T 98 98 wedl fr- “emd g,

TN TST HBT HTH fHar Y W A1y Td-faars sva gor 1) i, am, seER, ok ud @t 3mu yeaer gfd 81 uat
TR gIv-8-gIv AR $IP S ITQ T 311 T & d Tge-wauTg &1 fbfaq o 39 78 v | dar @ siftre aredt wi
T8 gt S| oy #1Y }, Wpaen e ®, srumfaa g3 W$aan | gwd & favy A gafw Feaarare @ A ufaea g
TR a1 | s & g & O Feaargr T 8, G- agaun SRT I N1V $ <47 5 AR 9 R ifd & qran &

3T § FHad Ut fagrsan arfaa & &t &t o wR o, @il & g & e firamare gaes 8 gue g9 ofs fean «n
Tg 9T TR A & Y 82 YT T I8 oY Farge1 a1 7gn &1 2T 37 areft 82

I TR BT UgHR -1 Y T Y HT SR I8!
TS - TREAT S Ad B ?

1. 397 ¥ FIg e

2. AT geT

3. 9 g

4. ARY gcar

Correct Answer :-

26) &t &1 foran gam o afe ugr™ o1 € ufkoma § @t goul &1 fosar gom ol oft 3=t faem ok g &1 &t ufvomy
U R 0 F NA BH1, TR B, STh STeI, FHRF BT, T A1- A T qfe Ue-fore gt &1 ufeoma gt
o 9R B, ¥@d 3R wawmaaa’mﬁmi%muﬁﬁf&rwﬁ ammfﬁa‘raﬁ?qa'qawﬁ%mﬁﬁaﬂﬁﬂmaﬂ%

mﬁagaé’rmﬁﬁﬁlW%gﬂaaﬁa@mmaﬁq—@ﬁmmﬁmﬁ@ﬁ?wagugﬁ?ﬁ%—“aﬁga,

TN FST BT HTH fbar Y W W1y Td-faars w3 gor 1 i, <, aeEr, ok ud @t smu yeaer gfd 81 el
W Iv-@-gIv AR $I$ S 3TA WA 10 Td § d T-wquta &1 fbfaq o 39 78 v | Far @ siftre aredt i
T8 it S | oy 1Y 3, Wgpaan Aew ®, sy g3 W$paan A gwd & favy A gafer Feaarars ™0 7 ufvaad g
TR a1 A 9w & g & w1 Feaargrn 8, G- dEHun SRT I ST H $ AT 6 AR 9 R St F qra €

3T A Fgd U faxear aifaa w7 &) &t o = off, At & g & e framare gaes € g g3t ofs foan =
UE ITd TN PO & I 8?2 YT T I8 TORY g a1 AE1 I U1 37 aredt 32

IUY TR BT UgH -1 IS T UY BT IR 9d154:
U - TG faaTe & w1 Ty § ?

1. 90-aY 3T9H 7 I T g B

2. T-TY F AT W FoId T AT A TS5



3. aX-TY P 3H9a ATAT-TAAT Y 3ATAT Al I3 B
4. IL-aY AT 9ol ATAT-TAAT I ATAT TGN olell ISl gl

Correct Answer :-

« T-AY B Y ATH-TAAT T 30T TG oAt g5 B

27) gt &1 faran gom o afe uem &1 € ufvonmw @ ot gout &1 favan gom e off It faemm ok Rrem &1 € wlomg
U AT | 0 F NS Bp1, AR B, STP SIAI, FHF BT, gH A1- T TS yg-fora gt &1 ufvomy gt
a 9R B, ¥d 3R wawazs‘rm-—ﬁm%muﬁﬁf&rwh Wﬁﬁaﬁ?qaq?wﬁ%mﬁvﬁa?ﬂﬁﬂmaﬂﬁ
m@ragazﬁmﬁaﬁlwﬁ Bl H¢ IR eI - SRATUTRIF T fears? 1 98 g8 Fodt - arrtfga,
Wlwmmﬁmwﬁﬁ%wum faare w3 e Y| Y, =g, geER, iR o B 3y ywer gfd 81 uelt
wW—#—W@mﬂw\ﬁmﬁﬁmr@%%%uﬁm-wmm%ﬁﬁmaﬂqﬁwﬁl%ﬁmﬁaf&ra?meé’rﬁﬁ
T8 gt S | oy 19 3, Wgaan Aes ®, sy g3 M$paan 9 gwd & favy A gafer Feaarars ™ 7 ufvaad g
TR a1 | s & g & w1 Feeaargrn 8, G- dgHun SRT I ST H F AT 6 A9 a9 R St F qre €
3T A Fedv U fagar nfaa w7 &) &t o = off, @t & g & e framare gaex € g g3t ofs foan =
UE ITd TN PO P AT 8?2 YT T I8 TONY AT a1 AE1 I 2HT 37 aredt 32

ITY TR BT UgH -1 IS T Uy BT IR 9d154:
U - Tl BT 9gaa-T T N1 ?

1. 3598 @ I 6

2. aREr

3. Hlica

4, FEzat

Correct Answer :-

28) &t &1 faran g o afe ugm™ o1 € uivony 2 @t gowt &1 fbar gam oref oft 3=t faem ok Rigm &1 € ufvomy
U AR 0 F M BH1, AR B, STd STEAI, FHRFT BT, TH A1- A T g ve-fre™ &t &1 ufkomy gt
A AR BIaw, T@d 3R Frewrarv as g1 | aiey | uReg fafdrad, araeafidl ok 7a-7awid faar Ut gefia 91 B

mﬁa@aé’twﬁﬁﬁlWﬁmﬁﬁmwﬁqwﬁmwﬁmﬁ@ﬁvwvgwﬁ?ﬁ%— "3 7,

TMTETRN TST 3BT HTH fhar s W /1Y Td-faare w3 gor 1 i, <am, geEr, o ud @1 snu yeaer gfd 81 uelt
TR giv-8-gIv AR $IP S 3TQ WA 311 TEd & d Ige-wquta &1 fbfaq o 39 78 v | dar @ siftre aredt wi
T8 gt S | T #1Y A, Wpaan e ®, srumfaa g3 Wdpaan | gwd & fawy A gafwr Feaarare @ 7w g

TR a1 @ s & fwa & 1 Feaarar T 8, G- agaun SRT I N1 A F <47 5 AR 9 R ifa & aram &

3T H Fad Ut fagrsar arfaa & &t &t fog iR o, @i & g & fAaan firamare gaes 8 gue g9 ofs fean «n
g §1d R $A & I 82 YAl FI1 J§ GRRT fdgT a1 7T HI THT & arelt 32

IUT T HT UgHT 1 U T Y HT SR Iad153:
U= - [P e qredt T sH TAR A8 8 2

1. 9rar

2. 3fF e

3. Al

4. JAERT

Correct Answer :-



ot o v gam ol afe ugm &1 €t ufkuma @ &Y gol &1 famar gam s off Iwast faem oiv Riem &1 & ufvoma
ST AR | 9 & M BT, RN BT, ST ST, FHF B, T A1- A I af ue-fora=t g1 &1 ufvomy gt
o 9R B, Td 3 wawaas‘rw—ﬁmi%muﬁﬁf&rwﬁ ammﬁa‘raﬁ?qa'qawﬁ%mﬁﬁa?ﬂaﬂmaﬂﬁ
aﬁa'g‘atﬁmﬁaﬁlWﬁmﬁﬂmmﬁq—%ﬁmmﬁwﬁﬁﬁ?wagugﬁ?ﬁ%—“arr&ga,
TMTETRN FST 3BT HTH fbar Y W w1y Td-faars w3 gor 11 i, <, aeEr, ok ud @t smu geaer gfd 81 el
W gv-F-gv AR ¥ S 399 THL SR v § @ Ag-UTd &1 fbfaeq of 3 181 waa | War 3 siftre amedt wit
T8 it S | oy 13 A, Wgpaan Aew ®, srumfa g3 Wdpaan A gwd & fawy A gafwr Feaarre @ 7 ufvaed g
TR a1 & IEs & fwa § /1 FEaarar T 8, G- a&Hun SRT I ST S $ o7 6 A 9 R ifa & ara- &
3T H Feh U fag[ar arfaa 7 &1 4t foa w i, A & 9@ 9 fear framare gaex § gaa g9 ofs faan &
IE ITd N T & I 82 YT T I8 TR AT a1 Ag1 I 2T 37 aredt 32

ITY TR BT UgH -1 IS T UY BT IR 9d154:
U — AR H P @ 6 g 2

1. 3rfe |

2. gor §fY

3. fawer dfer

4. 8rg |@fYr

Correct Answer :-

« gur g

30) o o1 faran gan s@d afe uem &1 € ufivumw @ oY gl &1 faran gam oM< 2ff St faem ok Rien &1 €Y wfoma
U AR 0 F MA Bh1, AR B, STH STeAI, FHRFT BT, TH A1- A T Ffe ve-fore™ & &1 ufvoma gt
Al AR Bidw, Td 3R gAY ag g1 S aiee | wR=g fafdrad, araeafidl ok 7a-7eweid faar Ut gofia 91 H

aﬁagatﬂwfha?rlWﬁg@ﬁa@mmﬁq—ﬁmwﬁmﬁ@ﬁ?wagugﬁ?ﬁ%—“amfga,

TN TST 3BT HTH fhar s W A1y Td-faare w3 gor 1 i, <, geEr, o ud @t snu weaer gfd 81 uelt
TR giv-@-gIv AR $I$ S 397 W 11 TEd & d uge-wautg &1 fbfaq o 3= 78 v | dar @ siftre aredt wi
T8 it S | oy +f3 A, Wpaaen e ®, srumfaa g3 Wdpaan | gwd & fawy A gafwr Feaarard @ A ufaea g

TR Har & IEs & fwa § 1 FEaarar T 8, G- agaun SRT I 6T S $§ <41 5 AR 9 R g & aran &

3T & HepR U fagpsan wnfaa & & A1 forg wR off, 9 & g @ e fyamare g € gua g3t ois f&an &0
g 91 TR $A & AIY g2 31YaT T Ig GeRI g1 a1 HEdl S MUT A JTelt 32

I TR BT UgHT 1A U T Y HT 3T Ia153:
R — 7T B ford "wrfpaar S aags s A dA A Qe 2
1. ATCH

2. 3901

3. Shgleil

4. Hfddr

Correct Answer :-

Topic:- Science (SCI)

1) The relative density of a substance is 13.6 and its volume is 20 cm3. What is its mass? /
freY gerd FT WET geca 13.6 § 31X SHHT AT 20 A3 | SHFT geIAAT fhae 2
1.272g / AqH

2.2.72g | AHA



3.27.2¢ / AH

4.0.06g / ATH

Correct Answer :-

2)
The current—voltage graph for two conductors ‘P" and ‘Q’ are shown below. Select the correct

statement from the following options. /

ar garers PR Q' & e Rega dees 3ng A9 fGme v §) St
fasredt & HEr FYUF FT FTAT FII

Current 0]

Voltage

1. For the same value of voltage, the current through the conductor Q is more than the current through the conductor P. /

dledsl & HAT A & AT, faegd S gares Q@ gl Il g , gATelh P IR dTell
e & 3ifts gl ¢ |

2. The resistance of the conductor P is equal to the resistance of the conductor Q. /

gATesh P T TicRIE Falelh Q& JIaIY & FAR B

3. The resistance of the conductor P is greater than the resistance of the conductor Q. /
garersh PN a0y Faresh QF 9oy & e g

4. The resistance of the conductor P is less than the resistance of the conductor Q. /
YaAT® P &1 UfeRIY Eds® Q & UfeRiY J HH g1

Correct Answer :-

« The resistance of the conductor P is less than the resistance of the conductor Q. /

AP P P YRy FaTas Q F Ry J $H g



Aforce of 10N is acting on the body and the body displaces through 5m normal to the direction

of application of the force as shown in the given figure. Find the work done. /

10N & Ush del, Ush W W FRIAd § I Ig BT 10 [ & 36[HR, de1 & o gl &I fger
A 5 e T T § favarid giar g1 fhaer FrRf g3 ad #X

l F=10N

]
5=5m

1.-50J

2.25)

3.50)

4.0

Correct Answer :-

« 0J

./ MATPR 9 § 3@ avd uerd &t

4) Liquids in spherical containers should be placed

@I ST 13T

1. near a water source in the lab / JINIRATST H UlAT & Teh GId & I
2. near the window / T@gahI & AT

3.in dark / 3EX H

4.in open shelves / E;,?ﬂ rerariar o

Correct Answer :-

. indark / 39X H

5) What are the food requirements of dairy animals? /
38 g3t A WG AraRTFAC FAT 72
1. Cattle need balanced rations containing all nutrients in proportionate amount. /
HARIGT T 3T AT H Tl Aweh dedl arel Il AT T TGl Blcll ¢
2. Cattle require appropriate amount of food to sustain life needs. /

HATAGT l Siiael T HTRTRAT3NT Pl R A & T SleT T ITYFT AT T AT glell
gl

3. Cattle are fed with plenty of green grass as well as dried fodder. /




FATAT 1 38 g1 ° & WY & g@r I o W S gl

4. Cattle feed includes roughage, which is largely fibre and concentrates which are low in fibre but contains high
level of proteins and other nutrients. /

AARIGT & #fslel A AT °IRT, ST A9H §I  WeR g AT YY-3MER T BIgaR HH giar g
Afhad 3T 3Ta TR & WA T 3T 9IS dcd 81d gl

Correct Answer :-

« Cattle feed includes roughage, which is largely fibre and concentrates which are low in fibre but contains high
level of proteins and other nutrients. /

HARAT & Tl & Al IRT, S 9 & § IWER & AT GR-3BR fSeTd Brger A g ©
AfFT 5TH 3za TR F NEF T 3T 9N dcd g &l

6) The cracks inside a metal block can be detected with the help of:/

U1 sdle & ARG GIRT T T & FASFT IaT TIRT T Fohvell ¢
1. Visible light / €T HehI

2. Infrasonic sound / 3187 €afa

3. Audible sound / g tafa

4. Ultra sound / 9¥&eg €afel

Correct Answer :-

« Ultra sound / 93%eT &afeT

7) What will happen if a small sheet of paper is tightly wound over at one end of a long iron rod and the
same end is placed over a candle flame? /

FIT Q91T 3R FTST T TH BIE TET, TF od dlg T S5 F Th 8K W FHART 19 &) ST §
3 39 B3 & g BN W &F AT A ot F TAHT @ AT §?

1. Only some portions of the paper will burn off. /
hdol ATl & HS G STl S|
2. The paper will not burn off since iron is a good conductor. /
FHETST FAET STl Fifeh IRRA U 3T [9Hdes gl
3. The paper will burn off since it is an insulator. /
PRI ST ST FAiTh Ig Fadaes ol

4. The flame of the candle will put off. /

AACA & ol g1 Sreed|

Correct Answer :-

o The paper will not burn off since iron is a good conductor. /

PRI A8l STeld Fifeh IRRA Ueh ST [HdEs gl




8) At the top of the mountain the atmospheric pressure is: /

715 ¥ fif W, araraRei gae P AR g

1. Less than the pressure at the sea level / HHG def 9T qdld T A

2. Equal to the pressure at the sea level / HHAG del 9T qdld F TR

3. Equal to zero / [ + T

4. Greater than the pressure at the sea level / HHAG del G qdld T A+
Correct Answer :-

 Less than the pressure at the sea level / HHG def 9T cqdld T A

9) Haemophilia and colour blindness are diseases. /
gAfpfar 3k quiterar Qe B

1. acquired / 3a1faia

2. communicable / HshTH®

3. genetic disorders / 3-11@31:%\133 ICETEY

4. non communicable / 3THhIHS

Correct Answer :-

« genetic disorders / 3-11?:|;c|fQ\IT=F IGEQES

10) polar bear survives in the very cold weather conditions because of: /

s oty areafr el st 1 Rewf # s Sffe e 3, wiit
1. Thick layer of fat under skin / cadT & S gar T AT WA & HROT

2. Abundant fish / ST AGCl

3. Oversize / faemersprr

4. Ice covered land / % & &hr FTHT

Correct Answer :-

« Thick layer of fat under skin / cd<l & S gar T AT WA & HROT

11) Convert: 15m/s into km/h /
15m/s Y km/h H TAART faT |
1. 54km/h / 54 fehcitHTe/aer

2. 27km/h / 27 TereliaTe/aer

3. 18km/h / 18 TehellaTe/aer

4. 36km/h / 36 Tehell#TEI/EeT



Correct Answer :-

« 54km/h / 54 Theliee/ger

12) which of the following is not advisable for controlling the noise pollution? /
i@ & @ F1 @ TEu F PFERT F@ § e 3R
1. The TV and the music systems should be run at low volume. /

&t 3R F@Ifid a7 (FReeA) & A AT # Tl aIga|
2. The least number of trees should be planted around the buildings./

sl & IRY 3R FH F FF U5 J9T e AT
3. Automobile horns should be minimized at the residential area./

AT 8T F AAGST 8l A HH A HH HAT ST AT
4. Industrial units should be set up away from the residential area./

ATk gehsal & AT &7 § gy T fohar S =gl

Correct Answer :-

o The least number of trees should be planted around the buildings./

I & IRY 3R FH F FF U5 J9T S AT

13) For a normal eye, the far point and near point are and respectively./

TF A a7 & AT, ey e [g sk fAwe = g war 3R gl

1. infinite , 25 cm / 37ed, 25 &Y

2. infinite , zero / 3741, T
3. 45cm 25 cm / 45 §HT, 25 AT
4.25cm, 10 cm / 25 AT, 10 9HT

Correct Answer :-
« infinite, 25 cm / 37ed, 25 AT

14) We feel more comfortable in light coloured cloths in summer than dark coloured cloths because: /

At F &oF W F FUSt F §H HUF IRHACHF AFHH FI § FifH A TN F FIS 8

1. Light coloured cloths absorbs more heat radiation/%cr% T F a:crg, 378 FvF [AfRTor i @ena
Fd gl

2. Light coloured cloths absorbs less heat radiation /B T & HUs, HH F°H AR Fr 3a™T Hd
gl

3. Dark coloured cloths radiate more heat radiation /?I%')C T F $C|?; s FoH ﬁw, AfPRaT
gl



4. Light coloured cloths absorbs more moisture / 8¢ 3T & HUS 31 TH BT IMVT Hd B

Correct Answer :-

« Light coloured cloths absorbs less heat radiation /3(*35 T & m, 7 37 Jfetor ot 3@n®a sa
gl

15) Alice gets 100 out of 100 in her Math test to get the first rank always. This is an

example of motivation / Tfa & YYH U YIcd F= & faw, afoa
qdiam H gAAT100 H & 100 3% fAad &1 T8 YOI T TFH 3SR &l
1. Extrinsic / dTed

2. power-based / QTFd-3TUTRT

3. fear-based / 3TI-3TITRA
4. Competitive / Ifararaft

Correct Answer :-
« Extrinsic / dT¢d

16) A wire when connected to 220V main supply has power dissipation ‘P;’. Now the wire is cut into two

equal pieces and combined in parallel and then it is connected to the same supply. The power dissipation in
this case is ‘P,’. Find Py : P,./

U dR B o9 220V qET IYfd & ST Srar § a9 39H Ry rveFT b @ Bl I3 AR B

& T THST A FIeT 1T ¢ I FHER T § SAHF @ FAW Iqfed § N1 1T T 5H
feufy # fagga sraeaw Py gt 81 Py : P, AT

1.2:1
2.3:1
3.1:2

4.1:4

Correct Answer :-

17) To save maximum energy it is advisable to use: /

FFaH F91 q9= & AT FaF svAhr Fer sRT ga™ . §:
1. CFL lamps in our house / AR &X #H HIUHTUS ofF

2. Filament lamps in our house / AR 8X H fhedie ol#d (HF!J' ol FT)
3. Fluorescent lamps in our house / §AR & H gfadia o
4. LED lamps in our house / AR &X H Tolgal oq



Correct Answer :-

« LED lamps in our house / AR X H Uelsal old

18) A solution contains 15 mL of alcohol and 85 mL of water. Calculate the volume by volume percentage
of solution. /

TF Aaa &, 85 mL 9 3T 15 mL ehigd a1 &1 Reaa & A= gfaerd & A= Y qorar
Coy

1.22.4%

2. 15%

3.17.6%

4. 85%

Correct Answer :-

 15%

19) Identify the correct electronic configuration of calcium /
Hfowraw & 7 sAwciias Qg A gga #i)
1.2,8,8,2

2.2,8,5

3.2,8,8,1

4.2,8,7

Correct Answer :-

20) The number of oxygen atoms present in 1 mole of Na,COj3. 10H,0 /
N2,CO3. 10H,0 & UF FMHNV] & JiFdierer qATos Hir & #Alsg ¢
, 13.02X 10¥ oxygen atoms ; 43 05 x 1023 SiferRf TR

2. 6.022 X 10 oxygen atoms/ 6.022 X 1023 &ﬁa@mm

3, 7.83 X 10% oxygen atoms/ 7.83 X 1024 SW\_SFTUTJ:I'I'UJ,

4 4.63 x 102 oxygen r;r,tmn.'s/4_63 X 1022 Givﬁ@\_rlqm

Correct Answer :-

24 T
. 783X 10T oxygen atoms | 5 g3y 1024 sifaefior TRATY

21) The process used to separate bacteria from water is /



el & dFARAT FY T FI H gfFar 7
1. Decantation / faEcROT

2. Crystallisation / TohEcelTehToT

3. Evaporation / aTsqeT

4, Filtration / faedeaT

Correct Answer :-

« Filtration / A ¥deeT

22) The pressure acting on a given area is 125N/m2.If the force applied is 2500N then the area on which
the force applied is : /

et R 1T &9 W FRRT g 125N/m? &1 I e a=m oo 2500N § aF a7 59 9T aer o
IA § TE R

1. 200m2 / 20052
2.2m2 / 2 #H?
3.20m? / 20 #H?

4.20cm? / 20 TH2

Correct Answer :-

« 20m2 / 20 2

23) About 5g of a yellow coloured non-metallic solid (X) is taken and heated. It produces an irritating
smelling gas (Y). The gas (Y) is collected in a Gas jar and is shaken well with a little water when colourless
Sulphurous acid (Z) is formed. What is the solid (X) and the gas (Y)? /

die T & B TG (X) FT oererr 5 e for smar @ 3K et fear e @1 @@ g iy areh
T AT (Y) 3T FIAT g1 AT (Y) : v A9 IR A vHa Far Smar § 3k alsr o sreew
e ST § a9 Wrée wewgyw ol (2) @1 @A gar §1 o (X) ve @ (Y) F= R

1. X Sy &Y =503

2.X = P4&Y = P,05

3.X

Sg &Y = SO,

4. X

S4&Y = S0;3

Correct Answer :-
e X = Sg&Y =S50,

24) Out of the following given materials, which one will you prefer to make the handle of an electric
kettle? /

frafaf@a & 1§ A F Q, 37 FAN F gAFeH Fdel FT 5 TAAT GHE HLA?



1. Tungsten / TITECaT

2. Bakelite / SohellSC

3. Copper / IR
4. Aluminium / TgfAfYg

Correct Answer :-

« Bakelite / Sohellse

25) A weak acid among the following is: /
fes & & wF gqaa T &

1. Acetic acid / Tfafee 3Far

2. Hydrochloric acid / gT83IeFall e 313l
3. Nitric acid / ATSEH 37FeT

4. Sulphuric acid / HFCPI@EF &l

Correct Answer :-

« Acetic acid / Tafes 3rear

26) Type of the soil is decided by the /

7T F1 TR et qarr a7 frar sar @

1. Amount of humus in it / 3GH W@IE $HT AT
2. Average size of the soil particles / FeT & I FT TS HR
3. Porosity of the soil. / Hal T IBTHIRT

4. Amount of microorganisms in it / I ﬁ&ﬂﬁﬁ?ﬁ Cak:IE

Correct Answer :-

« Average size of the soil particles / FT % FHUIN &1 A AR

27) Element ‘P’ has atomic number 19. The incorrect statement among the following is: /
dca P’ & WA FEAT 19 71 fAmafaf@a & § soa wuwr @

1. The valency of the elementis 1 / dcd $Tr gASTHRar 1 g1

2. Element ‘P’ is a non-metal. / dcd ‘P’ Ueh I gl

3. Element ‘P’ belongs to group I / dcd 'P' HHg 1 & 3T 37T §

4. Element ‘P’ belongs to 41 period / dca ‘P’ @Y 3mad & 3ideld 31T &1

Correct Answer :-

« Element ‘P’ is a non-metal. / dcd ‘P’ Teh 34Tg gl



28) What is the percentage of Carbon and Lead in Lead pencil, which we use for writing, drawing etc.? /

iz 4R @ &7 oFe, 3ET scufe & T 3uAler Fa & 3uH Fea ik afier fr gfderaar
fras &2

1. 50% Carbon & 50% Lead. / 50% @Ieal Td 50% efrem|
2.100% Carbon & 0% Lead. / 100% e Tad 0% <frem|
3. 0% Carbon & 100% Lead / 0% Teel Td 100% <frem|
4.75% Carbon & 25% Lead. / 75% @Il Td 25% <Mem|

Correct Answer :-

« 100% Carbon & 0% Lead. / 100% &hTssT Td 0% 22|

29) Which one of the following factors affects the quality of honey produced? /

farafaf@d #& @ @ RF @ A A Foraer yenfaa gt &2

1. Number of worker bees which collect the nectar / I5F &l HPIG 3HCST Hlel dlel HIIY H‘{lﬂ%@'ﬂ’f Hr
e

2. None of the above / 3TRIFd H T IS AT
3. Queen bee and Drones / AT H%ﬂ?@ﬁ' IR T HW

4. Flowers available to the bees for nectar / Hﬂﬂ%@'ﬂ’f & ARG %T:Df 3TcleY EW 9T

Correct Answer :-

 Flowers available to the bees for nectar / w & HG %T;f 39elsy Iv7 WX
30) Which physical quantity has the unit N/kg? /

fr siifas afr f 31§ N/kg 8?2

1. Velocity / gt

2. Acceleration / calor

3. Speed / =TT

4, Force / &1

Correct Answer :-

» Acceleration / TaoT

31) Two of the components of ecosystem mentioned below are abiotic. Identify them.
Inorganic nutrients, herbivores, decomposers, climatic factors, forests /

A sfeaf@a aRfFufadr a7 F @ gew IEET 71 378 wgafaw

IolT N9F deq, AMFERT , HTTEHRY, STAAId) FRE, T



1. Inorganic nutrients and forests / 3/oid 9I%eh ded 3R aaf

2. Decomposers and climatic factors / 3gehRT 3R STa@radl HR$
3. Decomposers and inorganic nutrients / AYITHRT 3R 3oid UINS dd
4, Climatic factors and inorganic nutrients / STaRId! HR& 3R 3foid TV dcd

Correct Answer :-

« Climatic factors and inorganic nutrients / STarId! HREH 3R 31 TN I

32) One among the substances given below can easily exist in all the 3 states of matter by varying its
temperature. Identify that substance. /

Hr Re v gert § @ vF ggrd F a9 F Iy F-aga FAr Fw, O fi9t et F wwear
¥ fac@AE § FFhar ¢ 39 et Y ggaeT #

1. Table salt. / HIHATTT IHR
2. Diamond. / §RT

3. Helium gas. / giforaesr 39

4. Water. / 3T

Correct Answer :-

o Water. / STl

33) is used for making the pencil lead. /

ifrae ofis saar & AT &1 39er fRam amar @)
1. Graphite / JPIST

2. Diamond / gRT

3. Silica / f&farr

4, Calcium / Sferrma

Correct Answer :-

« Graphite / JHIBT

34) To move an uncharged body from its state of rest , we have to apply : /

et mafra avg # 3uF ey & Bufa & Pwes F v, g8 aomer e
1. A balanced external force / Ush Hfoid aed &of

2. An unbalanced electrostatic force / U g fRR %‘c:qa gq

3. An unbalanced external force / U 3fRiqferd STl o1t

4. A balanced frictional force / Teh Hfold a¥oT ol

Correct Answer :-



» An unbalanced external force / U &Nﬁﬁﬂa@aﬁ

35) During the extraction of Iron from Haematite, which substance acts as Flux in the Blast furnace, which removes
the acidic Silica contaminating the Ore particles? /

gATeEE @ g & fsedor & ghe, Fl W1 ward sare wefw F 3raew FOil Y g Fa arer ey Ao
FI g I FAFE F T F FF FIaT 87

1. P,0s
2.C.
3. CaCl,

4. CaO

Correct Answer :-

e CaO

36) National Science Day is celebrated on in India. / ART & T @Aamer
faw H HAATIT SATAT 1

1. February 28 /28 TRARt
2.Mayl/1¥%

3.June 5 /591
4.March 7 /7 9

Correct Answer :-

. February 28 /28 TRaR!

37) Evaluation is a ./ ﬂ"\FﬂTEb_c-I' THh |

1. process unrelated to instructional objectives / a@%m 3?\?."\’?1% & fore sraeafaa gfsar
2. continuous process / Hdd gfsrar

3. Non-quantitative process / 3R-HATTcHS FfshaT

4. Non-qualitative process / ?R-W PIER]

Correct Answer :-

. continuous process / Tdd ATshdT

38) The educational programs of NCERT are telecasted on: / TaTHISEr & darfores
FIAHAT H W y@Rd fFar smar g1

1. Gyan Darshan channel / 3T &1l ATl

2. Doordarshan National channel / 8,3?\'%1?1' AT eTol



3. Doordarshan Bharti / E@:{_c!(%i?-r AT
4. eGyankosh /EC-W

Correct Answer :-

« Gyan Darshan channel / JTeT g2l Aol

39) Which group of organisms are not constituents of a food chain ?/

Sl FT FleT { WHE WIET HWT F °UTH Al o2

1. Frog, snake, grass, eagle, grass hopper / #ad, 19, g1y, T, ﬁE@T
2. Lion, rabbit, grass, wolf/ R, @, =, Afsar

3. Snake, grass, wolf, tiger / Q:I'i'q, a1y, Afsan, st

4. Man, plankton, fish, grass hopper / #Td, Toldeh, HGall, fcgar

Correct Answer :-

- Snake, grass, wolf; tiger / Q:I'i'q, a1y, AT, 19

40) Which of the following statements is not true for a constructivist teacher? / frfataa
# @ FiaT a1 FY=, v TTaAEEr Rad & v @@ a8 82

1. His/her students work mainly in groups / 3och O HET w9 q '\‘:l?:lt@' H FT Fd &
2. His/her role is rooted in negotiation. / 3sTeht S{&IEFF HAredrg # Afga gl

3. He/she assesses the students through testing by checking for correct responses. / 98 Tgl
gfafsrarsit & fow Sifa e T0eToT & ATCIH & ST FT 3ol Hd gl

4. He/she values the interest of students. / 8 ST & foed & HAgd &d &1

Correct Answer :-

. He/she assesses the students through testing by checking for correct responses. / dg Tgl
gfaferanit & T S ste 9eIoT & ATETH & SIET Hl 3iiholed ld 2|

41) «Assessment of learning” does not include: / "3 FT HhdA" AFT H AT
Cl

1. Evidence based assessment/ TT&T TR 3Teholel

2. Criteria based assessment/ HTIG8 TR 3TTeholel

3. Assessment of outcomes / ROTHAT T 3Tehelel

4. Mapping students’ progress/ HITIA0T BTAT T YaTfd



Correct Answer :-

. Mapping students’ progress/ HIITIIOT aEr Fr gerfa

42) Which of the following statements is false about the collaborative learning

approach? / FufefRad & & &9 91 $Y IgUNTHS FRATH eS0T & IR § 7Tad 82
1. Social skills of learner are developed. / 21Tt &1 @mefores *ierer fAwfAd giar gl

2. Emotional skills of learner are developed. / fremeft &1 HATaATcHS aﬁTerar, ICEAtiG) BTFIT
gl

3. Every student participates pro-actively in the task. / Ieder ST, BT & q‘\ﬂ' afshadr &
AT oI &

4. Dominance of the teacher is reduced. / 18/ 1 UHIG HH B“[ STl %I
Correct Answer :-

. Every student participates pro-actively in the task. / ¥cdeh &TH, P H q‘\ﬂ' afrgar &
HIIT T B

43) One of the following statements is true for the process of Roasting carried out during the
extraction of metals from their ores. Identify the true statement. /

farafaf@a & @ v Fya s F urgst F fasedor & ke o v seta A gira & v
A ¥ 39 eI FUT F TgAW|

1. Roasting is used for Carbonate ores. / $oieT &I 3YINT HIElc TR & forw fhar Fram gl

2. Roasting is not used for Sulphide ores. / Aol T 3UATIT HeWlss ITEH & v FF@I’ Rar Srar ?’I
3. The ore is heated in the presence of air. / 379 I gaT Hr 3qreAfa & I forar ST g

4. The ore is heated in the absence of air. / 37 I gaT dr BTﬂ'qﬁglﬁ H I Far Jrar gl

Correct Answer :-

 The ore is heated in the presence of air. / 3TITH Ca) gdr $r sufeafa & 77 Far arar %’I

44) If the speed of sound is 340 m/s and the echo is returned in 3.5s, then the distance of the
reflecting rock from the sound source is: /

I uep @fy Ft nfa 340 Hiez/AFS ¢ o 3.5 Gds A ufaa™ amuy et 8, @ @< Wid &1 ufdeaf~a @ ara
T B gl &

1. 595m / 595 #Hex
2.1190m / 1190 #Hex
3.170m / 170#eT

4.955m / 955 HIX

Correct Answer :-



+ 595m / 595 HIX

45) The unit “hertz” is the SI unit of the physical quantity: /
e = # A fr vifas amn 9t ume (Taens) s@s @

1. Sound / &afeT

2. Frequency / 3-1'[6;%

3. Period / 37af&r

4. Amplitude / 3TATH

Correct Answer :-

« Frequency / 3-TI3<:1%|'

46) A train decreases its speed from 144 km/h to 72 km/h in 4s. The acceleration of the train is: /
TS ¢ 3T 919 4 AFs | 144 fHft/ger @ 72 i/ ger ao w0 w3, ¢ &7 @01 3:-

1.-5m/s?

2.5 m/s?

3. 10m/s2

4, -10m/s?

Correct Answer :-

. -5m/s?

47) A ray of light is incident on the glass slab at an angle of incidence 30°, the angle of emergence will
be:/

THT Bt TP fror M 3 T Ut uR 30° & SATUA BT IR SATUfd gil B, YHT=T S¢H fig H1 FHior ghm:
1. 60°
2.45°
3.30°
4.15°

Correct Answer :-

« 30°

48) The interval between the melting point of ice and the boiling point of water in Celsius scale is divided into: /
AfCTTT T & Ul F Fauai® 3R a6 F Toaie F T 30T swA B g &
1. 180 equal parts / 180 sRTsR fg&ar

2. 273 equal parts / 273 SRTeR et



3. 100 equal parts / 100 SRTeR f3&dT

4. 120 equal parts / 120 sRTeR fgeat

Correct Answer :-
« 100 equal parts / 100 sTeR fgeat

49) Use of agriculture farming system,with minimum or no use of chemicals,use of maximum input of
manure,farmwastes and bioagents is known as /

| a1 f3= 1 T & waRT 31 HiY yomedt @1 I, |re & siftean A, N Ry iR S vR® @1
UGN HEaATdl §

1. Genetic manipulation. /3-]1@3'?% LTS
2. Organic farming. / 3i@ ajﬁ'

3. Biofertilizer farming. / WW

4. Biochemical farming. / STaRTERIMNS HY

Correct Answer :-

« Organic farming. / 319 'cljﬁf

50) Combustible materials can be disposed off through / gg=Teliel Terd frud ATCIHw q FIe™ a1
Hd &

1. Composting / HFIIHECIT
2. Recycling / 9eIRdhOT

3. Dumping /ﬂﬁréﬂw

4, Incineration / HRATHRT

Correct Answer :-

« Incineration / HRATHRT

51) The anhydride of H3PO4is: /
H3PO, &1 TTETSSISS ¢

1. PCl4

2. PCl,

3. PH;

4, P,O5

Correct Answer :-



52) Among the following ecosystems, man made ecosystem is /
Frafafea uitfufos @ & |, A fffa affRufest @ e:

1. Garden / &t

2. Ponds / dTdild

3. Forests / STl
4. Lakes / 3@

Correct Answer :-

e Garden/ =

53) Vibro-tactile aids are used for students. / fds-¢aeTSd Heg BT SUURT
B & fore fovar wimar g1

1. mentally ill / AAAS® T F fHAR
2. dumb / 33
3. deaf / &Y
4.blind / 3

Correct Answer :-

. deaf / 98X

54) The statement “the electrical resistance of a metal increases with temperature” is a: /

FY: “UTg BT fagya Uiy, AU S Y TSA 3" TH gl
1. Concept / TR0

2. Theory / @?{ﬁ]’lﬁ'

3. Principle / TaeT

4. Hypothesis / 9ReredeIT

Correct Answer :-

. Principle / o g#

55) Herbarium is a dry preservation of . | gafaH BT TS [CH HIEUT g
1. fishes /| AT

2. bird feathers / 9&f & u@r
3. herbs / STar Ej’\ﬁ?ﬂ
4. plants /tﬁ‘iﬁ

Correct Answer :-



. plants / tﬁ‘fff

56) Which one of the following is not an advantage of the Heuristic method of teaching? /

fFafafaa 3 @ o1 R 3t sgiifes fafy o1 1@ av T8 @2

1. Being a fast process, it can help to cover the prescribed syllabus in a specific time period. / Ueh

ST 9TshaT Bl & &1, I8 Ueh [ARTd AT 3@ & uTRT qrodshd & QU i
#H TETIdr HT TqHhaT g

2. It helps in developing creativity in the learners /Jg Rrenfiat & @arcAsar fTefaa &
H HAce adr gl

3. The students develop the power of observation. / BTN # gl o1 AfFd faefaa gdr
gl

4. Self-activity is used for gaining knowledge. / FTeT UTed el & ToIT TI-IMTATATT T
39T foRam ST g

Correct Answer :-

. Being a fast process, it can help to cover the prescribed syllabus in a specific time period. / Teh

ST 9TshaT Bl & &1, I8 Ueh [ARTd AT @i & UTRT qrodshd &l QU i
H FEIaT IR ohahl g

57) Which of the following types of question should be used by a science teacher to assess
the ability of a student to summarize and integrate the ideas? / T A3 fFaueR &
UY BT IYANT, TP fagr e gRT fRY o W&y 3R Tdipd H ¥d T BT B &HdT BT
Siwad B & forg fasan s anfge?

1. Selection type objective question / TIeT ATl d{-gllro\-luo IR

2. Supply type objective question / 3-1Tc‘|'\fé daTel d{—gl’ﬁ% BRG]
3. Short answer type question / off 3c¥ arel 99
4. Long answer type question / S 3AX aTel UeeT

Correct Answer :-

. Long answer type question / G 3 aTel 9eel

58) Which of the following is a biotic factor?/
farafaf@a #& & #la a1 fRF Fra
1. Microbes / ﬂ?rrug

2. water / STel

3. Soil / TACET

4, Air /91T
i)



Correct Answer :-

. Microbes/(lallUQI

59) perseverance is an attribute that: / ¥3dT U& fawdr & 3

1. Allows repeated opportunities for success / Theldl & folT TR-R AT Sl ol
2. Gives success in single attempt / TUeh @' 9qg H holdl Sar %l

3. Leads to continuous success / faaX AT $HT 3R o AT %’I

4. Makes one narrow minded towards work / ST & 9fa FhioT I AfAa it gl

Correct Answer :-

. Allows repeated opportunities for success / FheldT o folT SR-IR 39T ¢l gl

60) Which of the following is NOT true of performance-based assessments? / fa&faf@a P}
¥ Pl yeda-3meaRa et FT GcT FAE &2

1. It measures students ability to apply the knowledge learnt / Jg ST CEIRY A 37T AT &l
] &l T &THAT I AT &

2. It is simple and non-authentic / g TIel IR Ry %’I
3. It is open-ended and time-bound / Tg§ E_[ﬂT—:STFf (3M9=1-UsE) 3R HAT-dcYT gl
4. It is process/product oriented/ Ig fehdT / 39S 374 gl

Correct Answer :-

. It is simple and non-authentic / g HIcT 3T R-vao= gl



